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Aufgabe 14.1

(a) x3 =
1

216

x3 =

(
1

6

)3

x =
1

3

(b) x6 =
1

64

x6 =

(
1

2

)6

x = ±1

2

Aufgabe 14.2

(a) x4 =
1

81

x4 =

(
1

3

)4

x = ±1

3

(b) x5 = − 1

32

x5 =

(
−1

2

)5

x = −1

2

Aufgabe 14.3

(a) x7 = 214

x7 =
(
22
)7

x = 22 = 4

(b) x2 = 56

x2 = (53)2

x = ±53 = ±125

Aufgabe 14.4

(a) x−3 = 76

x−3 =
(
72
)−3

x = 72 = 49

(b) x2 = 11−4

x2 = (11−2)2

x = ±11−2 = ± 1
121

1



Aufgabe 14.5

(a) 2−x = 43

2−x = 26

x = −6

(b) 4x = 8−12

22x = 2−36

2x = −36

x = −18

Aufgabe 14.6

(a) 9x =
1

38

32x = 3−8

2x = −8

x = −4

(b) 125−x =
1

2515

5−3x = 25−15 = 5−30

−3x = −30

x = 10

Aufgabe 14.7

(a) 37 · 3x = 3−5

37+x = 3−5

7 + x = −5

x = −12

(b) 24 : 2x = 2

24−x = 21

4− x = 1

x = 3

Aufgabe 14.8

(a) 2x : 83 = 4−5

2x : 29 = 2−10

2x−9 = 2−10

x− 9 = −10

x = −1

(b) 274 · 3x = 815 · 9x

312 · 3x = 320 · 32x

312+x = 320+2x

12 + x = 20 + 2x

x = −8
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